
Математический диктант

1. 79                      6. 44
2. 93,95                 7. 15
3. 50                      8. 68
4. 8                        9. 80 
5. 72                    10. 92+4=96    
                                  4+92=96
                                  96-4=92
                                  96-92=4 



Примеры
Задачи

Ломаная линия
Сравнение

?



3 часа



11 ч 56 мин



10 ч 10 мин



8 ч 22 мин



2 ч 55 мин



1) 4-2=2(см) – 2-е звено.

2) 4+2+5=11(см)

4см 2см
5см

Ответ: длина ломаной 11см.



Разминка



Купил
8 руб.

Осталось
       ?

20 руб.
Купил

?
Осталось
12 руб.

20 руб.

?

Осталось
12 руб.

Купил
8 руб.

20-8=12 (руб.)

Ответ: осталось 12 рублей.

20-12=8 (руб.)

Ответ: купил за 8 рублей.

8+12=20 (руб.)

Ответ: было 20 рублей.

Купил
5 руб.

Осталось
   12 руб.

?



МОЛОДЦЫ!


